T

1/(2m) d?o/(dn dp_) [pb/GeV]

Ratio to STAR

0.5

200 GeV pp Soft QCD
':_| T rrrorrrroprrrrororo oo T e e |_':
= Jet P, (high tower trigger) =
| _
E n E
= u IE
. m STAR = _
= o Pythia 6.427 346 =
- Pythia 6.427 347 u -
= Pythia 6.427 348 E
- Pythia 6.427 349 = 7]
— —A— Pythia 6.427 370 —=
1§__| | | | | | | | | | | | | | | L | | | |_1§_
ASSLI L L L L B
- [ =
N P ’
I E O T T T T T R R R T R R R T R T R

10 20 30 40

jet pT/GeV

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


